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QUESTION 1

A vSphere administrator needs to migrate VMs in the same vCenter from New York to California due to 

impending severe weather. 

Which migration should the administrator perform without causing VM downtime? 

A. Long Distance vMotion 

B. Storage vMotion 

C. Cold migration 

D. Cross vCenter vMotion 

Correct Answer: A 

 

QUESTION 2

Which two features should an administrator use to protect a VMware vCenter Server Appliance from host and hardware
failures? (Choose two.) 

A. VMware Distributed Power Management 

B. vCenter High Availability 

C. vSphere High Availability 

D. vSphere Fault Tolerance 

E. VMware vSphere Distributed Resource Scheduler 

Correct Answer: BD 

 

QUESTION 3

What are two requirements to deploy VMware Site Recovery Manager? (Choose two.) 

A. vCenter Server installed at the protected site and at the recovery site 

B. Identical storage at the protected site and at the recovery site 

C. host-based replication through vSphere Replication or preconfigured array-based replication 

D. identical vCenter Server versions installed at the protected site and at the recovery site 

E. identical ESXi versions installed at the protected site and at the recovery site 

Correct Answer: AD 
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QUESTION 4

An administrator manages a vSphere environment with the following configuration: HA enabled Admission Control
enabled based on fixed slot size 1 VM with a memory reservation significantly larger than the fixed slot size 

The administrator notices that occasionally the VM with the memory reservation fails to restart during an HA host failure
event. 

What could cause this to happen? 

A. Failover capacity is exceeded due to the memory reservation 

B. vMotion network needs more bandwidth to restart the reserved VM 

C. VMs with reservations must be in their own dedicated cluster 

D. DRS must be enabled when admission control is enabled 

Correct Answer: A 

 

 

QUESTION 5

An administrator manages a team that regularly deploys many similar Windows VMs in the environment. Which action
should be taken to improve efficiency of this process? 

A. take VM snapshots 

B. use the New Virtual Machine wizard 

C. deploy from a VM template 

D. restore from a VM backup 

Correct Answer: C 
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